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Nachtell

keine Ferien

» Praktisch keine Ferien fur ~5 Jahre

> Herbstsemester (14 Wochen) > Fruhjahrssemester (15 Wochen)
» KW 38 -51 » KW 8 - 22

> Winterprufungssession (4 Wochen) > Sommerprufungssession (4 Wochen)
> KW 4 -7 » KW 32 - 35

> “Osterferienferien”. 1 Woche > Herbstferien: 2 Wochen

> “Die vorlesungsftreie Zeit ist fur die Prufungsvorbereitungen und die
Prufungssessionen vorgesehen” (Quelle)
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https://ethz.ch/studierende/de/news/akademischer-kalender.html

Nachtell

keine Freizeit

> Geistig hochanspruchsvolle Vorlesungen
> Mental/psychisch extrem erschopfendes Studium
> Sehr grosser Zeitautwand unter dem Semester

> Noch grosserer Zeitautwand in der Lernphase

ETH:zurich



Nachteill
kein Geld

» An der ETH zu studieren kostet nicht viel, aber man verdient nichts

> Wahrscheinlich sogar fir mehr als 5 Jahre, denn bereits “Regelstudienzeit”
Ist elne Leistung!

> Wohnungsmarkt in Zurich ist die Holle (SRE-Artikel)

> Nebenjobs im Bachelor sind nicht gut mit Studium vereinbar
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https://www.srf.ch/sendungen/kassensturz-espresso/kassensturz/wohnungsmarkt-zuerich-das-spiel-mit-der-wohnungsnot

Nachtell

dexr “Campus”

> Selbst in der schonsten Stadt der Welt ist der “urbane” Campus (Zentrum,
nicht der Campus Honggerberg) recht lahm

> Zu wenig Platz fur alle Studierenden
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Nachtell

wenig “Industrie’”-Praxis

> Aber gewisse Studiengange (bspw. Maschineningenieurwissenschaften)
haben Praktika und sehr praxisnahe Moglichkeiten tlur extrem coole
(Semester)projekte/Bachelorarbeiten

4 aris (Akademische Raumfahrt Initiative Schweiz)

«» AMZ (Academic Motorsports Club Zurich)

Viele weitere Moglichkeiten

ETH:zurich


https://aris-space.ch/our-projects/
https://www.amzracing.ch/en
https://youtu.be/XQIu5tZ0vbQ?si=2zPbtvq_39PpaMfU
https://ethz.ch/content/dam/ethz/special-interest/mavt/department-dam/studium/bachelor/documents/Infoveranstaltung_FokusProjekte2024.pdf

Vorteile wahrend des Studiums

ASVZ, Fachvereine, Teaching Assistants, Mitstudierende

> ASVZ (Akademischer > Teaching Assistants

Sportverband Zurich)
> Viel personlicher Kontakt zu

> Sehr viele Sportarten zum alteren Semestern
Ausprobieren und fur einen . .
physischen Ausgleich > Mitstudierende
» Fachvereine > “The real Vorteil are the friends

3

you make along the way
» Gelle Parties, literweise Alkohol,
tolle Leute

ETH:zurich



Vorteile nach dem Studium
ein ETH-Abschluss!

> Sehr hoch angesehener Abschluss

> Gute Ausbildungsmoglichkeiten in verschiedensten Bereichen
> Guter Zugang zu Akademie

» Gute Ubergangsmaoglichkeiten in die Industrie

> Hohes Start-up-Potential (ETH-Spin-offs)

>

ETH:zurich


https://ethz.ch/en/industry/entrepreneurship/explore-startup-portraits-and-success-stories/uebersicht-eth-spin-offs.html
http://sph.ethz.ch

Informatik != Informatik

Masterstudiengange an dexr ETH

™ Master Computer Science ul Master Data Science
(Spezialisierungen)

~

2 Master 1 rit

= Data Management Systems n
i» Master in Robotics, Systems and

@ Machine Intelligence Control
¢% Secure and Reliable Systems &

@ Visual and Interactive Computing

Theoretical Computer Science
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https://inf.ethz.ch/de/studium/master/master-cs-2020.html
https://inf.ethz.ch/de/studium/master/master-ds.html
https://inf.ethz.ch/de/studium/master/master-cybsec.html
https://inf.ethz.ch/de/studium/master/master-rsc.html
https://inf.ethz.ch/de/studium/master/master-rsc.html
https://ethz.ch/en/studies/master/degree-programmes/engineering-sciences/computational-biology-and-bioinformatics.html
https://ethz.ch/en/studies/master/degree-programmes/engineering-sciences/computational-biology-and-bioinformatics.html

Theoretische Informatik Serie 6 hbusenhart, agavranovi¢, kkalman

TI - Serie 6

(25730 iee!

(a) To show: It is possible to fit three buses with countably infinite’ new guest into an
already fully occupied Hilbert hotel such that every guest from bus 1 gets a room
with an odd room number, and every guest from bus 2 has at least one neighbour
from bus 2.

Proof: We assign the rooms as follows (numeration starting at 1):

Exercise 16

The previous guests First, move each current resident of the hotel room with
the number 7 to the room with number

ro(i) :==4i -/

and give them a voucher for a free drink with endless refills at the hotel bar for the
inconveniences. |

Bus 1 Tell the guests from bus 1 to form a line and then tell the person at the
+’th position in the queue to go to room

ri(3):=0G—1)-8+1. /

Bus 2 Tell the guests from bus 2 to form a line and then tell the people at the
+’th position in the queue to go to room

r9(i) == (i — 1+ (i mod 2)) -2+ 1 — (¢ mod 2) /

Bus 3 Tell the guests from bus 3 to form a line and then tell the person at the
+’th position in the queue to go to room

ra(i) == (i—1)-8+5. |

Note Since there are infinitely many people on each bus, the porter has to switch
buses every p € N people and must not wait for one bus to empty out, since that

would take literally forever. Lpecully it all Hue clow gl hluing aper ey

b« s o Tl oor W,
The rooms are now filled as follows, whei‘@’%fl’eYtop rOwW ind‘icate%%hg room numbers

and the bottom number indicates the origin of the guest, with 0 being code for the
previous guests and k for a guest from bus k.

112(3(4|5(6|7(8|9](10(11|12({13|14|15(16] --
112(2(0(3(2|2|0|1(2(2(0(3|2]|2]|0]- -

Now we show that all of the guests’ requirements are met.

The previous guests Since there are infinitely many rooms which are divisible
by 4, all of the current residents can stay in the hotel. We must make sure, that

'In the task it only says “infinite”, I'm assuming it y’as meant to say countably infinite because it
won’t for for any other (bigger) infinity, i.e. N; for i > 0
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Parallel Programming
Assignment 4: Parallel Models
Spring Semester 2024

Assigned on: 13.03.2024 Due by: (Wednesday Exercise) 18.03.2024

(Friday Exercise) 20.03.2024

Task 1 - Pipelining

Bob, Mary, John and Alice share a flat. In this flat they share a washing machine, a dryer and an ironing
board. The washing machine takes 50 minutes for one wash cycle. The dryer takes 90 minutes. Everyone
of them takes roughly 15 minutes to iron their laundry.

a) Assuming they would do their laundry in strictly sequential order (one person starts only after the
other finished ironing), calculate how long would it take to finish the laundry.

Answer: They would take (50 + 90 + 15) * 4 = 620 minutes as illustrated in Figure 1.
Washing - 50 min, Dryer - 90 min, Iron - 15 min

Figure 1: Pipeline executed strictly in sequential order.

b) Are there any better options? If yes, can you describe them and calculate the improved laundry time?
Further, determine whether this pipeline is balanced or unbalanced.

Answer: (50 + (90 x 4) + 15) minutes = 425 Minutes
Assuming that three tasks are going in parallel, the speedup is: S3 = T3 /T3 = 620/425 = 1.46 as
illustrated in Figure 2. The pipeline is unbalanced as the stages of the pipeline have different length

of time.
Washing - 50 min, Dryer - 90 min, Iron - 15 min

Figure 2: Pipeline executed in parallel.

¢) Can you devise a better strategy assuming that the four roommates bought another dryer? If yes,
calculate the new laundry time. Further, determine whether such an improved pipeline is balanced
or unbalanced and calculate the pipeline throughput as well as latency.
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19 companies hiring
Entry Level Software Engineer Jobs in Switzerland

Save this search
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e Tech services and consulting.
202 222,000 g&IFr22.878B

Data Engineer 2 months ago

Geneva, Geneva, Switzerland

Data Engineer 2 months ago

Zurich, Zurich, Switzerland

View all open roles >

Baxter International

Medical products manufacturer.

202 48,000 &l Fr23.5B

Ny
A

Software Developer - Campocologno a month ago

Campocologno, Graubunden, Switzerland - On-site

View all open roles >

w10 Open Systems

systems MDR cybersecurity with outcomes.

202 450

25 total jobs 7

h dem Studium

4 Apply Now A

Software Developer 3
Oracle - 19 days ago - Zurich, Zurich, Switzerland

[ Fr 131,823 (base salary estimate from Levels.fyi)

/.‘ Levels.fyi's Total Compensation estimates by level for Software Engineers at Oracle. The most likely
levels for this role are highlighted below in blue.

IC-1 Fr 45.5K IC-2 Fr 148.2K IC-3 Fr 171.1K

(2 Benefits *+ Promote

Job Description

Design, develop, troubleshoot and debug software programs for databases, applications, tools, networks etc.
As a member of the software engineering division, you will assist in defining and developing software for
tasks associated with the developing, debugging or designing of software applications or operating systems.
Provide technical leadership to other software developers. Specify, design and implement modest changes to
existing software architecture to meet changing needs. Duties and tasks are varied and complex needing
independent judgment. Fully competent in own area of expertise. May have project lead role and or supervise
lower level personnel. BS or MS degree or equivalent experience relevant to functional area. 4 years of
software engineering or related experience.

Career Level - IC3

Responsibilities

We need expertise in the following (or related) areas:
e Experienced in JavaScript/TypeScript

e Experienced in React/Preact

e Familiar with test frameworks such as Jest, Puppeteer
e Familiar with working on OCI Console plugins (preferred)

/el)
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https://www.levels.fyi/jobs/title/software-engineer/location/switzerland?locationSlug=switzerland&jobId=134226483898917574

Informatik nach dem Studium

Weitexrlexrnen und forschen

¢ Forschungsméglichkeiten nach dem Studium?
> Sehr spezifisch und wechselt standig

» Am besten anschauen sobald es sowelt ist

ETH:zurich
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